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Revision

	2007 P2
	[image: image1.png]6. Brunton is 30 kilometres due North of Appleton.
From Appleton, the bearing of Carlton is 065 °.

From Brunton, the bearing of Carlton is 153°.
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Calculate the distance between Brunton and Carlton.




	
	4

	Ans
	27.2 km

	2007 P2
	[image: image2.png]8. In triangle PQR:

* QR =6 centimetres
* angle PQR=30°
* area of triangle PQR = 15 square centimetres.

P

30°
Q 6cm

Calculate the length of PQ.




	
	3

	Ans
	10 cm

	2006 P2
	[image: image3.png]5.

ST, a vertical pole 2 metres high, is situated at the corner of a rectangular

garden, PQRS.
RS is 8 metres long and QR is 12 metres long.
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The pole casts a shadow over the garden.
The shadow reaches M, the midpoint of QR.
Calculate the size of the shaded angle T'MS.




	4
	

	Ans
	11.3 degrees

	2006 P2
	[image: image4.png]6. (a) There are three mooring points A, B and C on Lake Sorling.

From A, the bearing of B is 074 °.
From C, the bearing of B 1s 310°.
Calculate the size of angle ABC.
() B is 230 metres from A and 110 metres from C.

Calculate the direct distance from A to C.

Give your answer to 3 significant figures.




	
	2
4

	Ans
	(a)  124 degrees       (b) 305 metres

	2005 P2
	[image: image5.png]110°
21cm 19cm

Calculate the area of triangle PQR.




	4
	

	Ans
	187.5 cm2

	2005 P2
	[image: image6.png]David walks on a bearing of 050° from hostel A to a viewpoint V,
5 kilometres away.

Hostel B is due east of hostel A.

Susie walks on a bearing of 294 ° from hostel B to the same viewpoint.
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Calculate the length of AB, the distance between the two hostels.




	5
	

	Ans
	11.0 km

	2004 P2
	[image: image7.png]5. A helicopter, at point H, hovers between two aircraft carriers at points A
and B which are 1500 metres apart.
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From carrier A, the angle of elevation of the helicopter is 50°.
From carrier B, the angle of elevation of the helicopter is 55°.

Calculate the distance from the helicopter to the nearer carrier.




	
	4

	Ans
	1190m

	2004 P2
	[image: image8.png]The diagram below shows a spotlight at point S, mounted 10 metres
directly above a point P at the front edge of a stage.

The spotlight swings 45° from the vertical to illuminate another point Q,
also at the front edge of the stage.

Through how many more degrees must the spotlight swing to illuminate
a point B, where Q is the mid-point of PB?




	
	5

	Ans
	18.4 degrees

	2004 P2
	[image: image9.png]7. A square trapdoor of side 80 centimetres is held open by a rod as shown.
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The rod is attached to a corner of the trapdoor and placed 40 centimetres
along the edge of the opening.

The angle between the trapdoor and the opening is 76°.

Calculate the length of the rod to 2 significant figures.




	4
	

	Ans
	80cm

	2003 P2
	[image: image10.png]3. Two yachts leave from harbour H.
Yacht A sails on a bearing of 072 ° for 30 kilometres and stops.

Yacht B sails on a bearing of 140° for 50 kilometres and stops.

t

How far apart are the two yachts when they have both stopped?

Do not use a scale drawing.




	
	4

	Ans
	47.7km

	2003 P2
	[image: image11.png]6.

In the diagram,

Angle STV = 34°

Angle VSW = 25°

Angle SVT = Angle SWV =90°

ST =13-1 centimetres.

Calculate the length of SW.





	4
	

	Ans
	6.6cm

	2003 P2
	[image: image12.png]7. The area of triangle ABC is 38 square centimetres.

AB is 9 centimetres and BC is 14 centimetres.
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Calculate the size of the acute angle ABC.




	
	3

	Ans
	37 degrees

	2002 P2
	[image: image13.png]4. A TV signal is sent from a transmitter T, via a satellite S, to a village V, as
shown in the diagram. The village is 500 kilometres from the transmitter.
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The signal is sent out at an angle of 35° and is received in the village at an
angle of 40°.

Calculate the height of the satellite above the ground.




	
	5

	Ans
	190.8km

	2002 P1
	[image: image14.png]In triangle ABC,

AB =4 units
AC =5 units
BC = 6 units.

Show that cosA =

1

oo





	3
	

	Ans
	Proof

	2001 P2
	[image: image15.png]6. Three radio masts, Kangaroo (K), Wallaby (W) and Possum (P) are
situated in the Australian outback.
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Kangaroo is 250 kilometres due south of Wallaby.
Wallaby is 410 kilometres from Possum.

Possum is on a bearing of 130° from Kangaroo.
Calculate the bearing of Possum from Wallaby.

Do not use a scale drawing.




	
	4

	Ans
	157.8 degrees

	2001 P2
	[image: image16.png]8. A metal door-stop is prism shaped, as shown.

S5cm
14 cm
8cm
‘I'he uniform cross-section is shown below.
100°
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Find the volume of metal required to make the door-stop.




	4
	

	Ans
	275.7cm3

	2001 P2
	[image: image17.png]10. Each leg of a folding table is prevented from opening too far by a metal
bar.
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The metal bar is 21 centimetres long.

It is fixed to the table top 14 centimetres from the hinge and to the table
leg 12 centimetres from the hinge.

hinge
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(a) Calculate the size of the obtuse angle which the table top makes with
the leg.

(b) Given that the table leg is 70 centimetres long, calculate the height of
the table.




	3
	3

	Ans
	[image: image18.png](@) 107-5°
(by 66:8cm





	2000 P2
	[image: image19.png]7. A newspaper group advertises a new magazine on a helium balloon.

From the base of the balloon, B, two holding wires are attached to the
ground at A and C.

The distance from A to C is 130 metres.

From A, the angle of elevation of B is 53°.

From C, the angle of elevation of B is 68°.

Calculate the height of point B above the ground.

Do not use a scale drawing.




	
	5

	Ans
	112.3m

	2000 P2
	[image: image20.png]11. A lampshade is made in the shape of a cone,
as shown.

The shape of the material used for the
lampshade is a sector of a circle.

The circle has radius 25 centimetres and the r
angle of the sector is 280°. 25 cm

(a) Find the area of the sector of the circle.

Each sector is cut from a rectangular piece of material, 50 centimetres
wide.

50 cm

(b) Find, to the nearest centimetre, the minimum length, /, required for
the piece of material.




	3
	4

	Ans
	(a) 1527.2cm2    (b) Minimum is 45cm   








